EARAROBEEIERT — 2 N— IBISH —F

2017510898 (B) 4EIF=3H

v >%3%t 5005TF UEwl &R

EEE R

[~E4] 1% :7,500,000 @ ~ 23 :3,000,000MH ~ 3i&:

1,900,000 .~ 4 & :1,100,000 M

/53 750,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S 4 3 | SHER 1:23.2 7-7 36.3| 95.2 | 4 472 | BRIEZ ()
118115 YT NTAILR 55.0 & (Lo |
L:bIoER B:vvALY—F HFREANIS
SN 4 4 | BREIES 1:23.5 3-3 37.2| 92,5 | 14 | 492 |=iEHE (FH)
20713/ B—LIZ vy 7 57.0 (1 3/8) 4o | 0 O-LaL—voy
LIS INATA—H— BTIIFLH— FIXTT—L
N H o4 | BEEHE 1:23.5 9-9 36.1] 924 | 5 506 | REFRA (HH)
315010 7y a7 ir> A54.0 (F75%) (6) | IR
L:24¥x>v ML B:Z2bQ2TT5 > SZvae]
S S R s 44 | AEEE 1:23.6 9-9 36.2| 91.4 | 1 500 | EFEH (EH)
558 —% [B] 57.0 (1/2) © | B snviFe—45TLy KR
R:hxex) B:T7LELDT KT 7 — L
5 44 | HEEE :23.6 6-6 36.9|91.5 | 3 482 | 1EEEERE (2
hx/10 57.0 ) e | X
o4O B:IHTo—)b N 45035
. 3 | HEBE 1:23.8 8-8 36.7|89.6 | 8 444 | KIIEE (E5H)
A—vA > “ 55.0 ) (16) | MR
RiFATATv— BXTHANY AT paiutie
— R — = > FHEHE : - RHFzm (FEl)
2YS—q=5 £ 4 ése.o 1(.32/%9 1-1 37.8| 89.0 | 7 (4:14) %nﬁng_
LiXLTeH /XX BiFAYILE mE E=
= 5 =8 EHEEA ] - LIz j
AT T7ATE T 1 o4 57_()% 1.(224).2 16-15 [ 36.1| 85.7 | 11 zzg? %Eﬂ%;_(%% #)
RA-—JXL2x14 B:1-774—-> [IT):: e
. Elesp| 124. - . . FEE= (EH)
®17% x4~ [B] o4 s 1(32/:2)3 11-9 36.8| 84.9 | 12 (5&6) o
RitA > bPLy X Bk /A% PPy ¢
FRVES o4 | BEXRET 1:24.9 12-12 | 37.1| 79.3 | 10 | 454 |FIFEE (E#)
10l8l16| 7V —L—T X b A54.0 3 1/2) a) |TATLALTST ()
R:RY=—LYv—=— B:aqsLFo =B
P =, 3 4 o4 | SHE 1:25.0 14-12 | 37.2| 78.4 | 9 494 | BEAFIA (i)
111112 TI2A4XaAL 72— 57.0 (1/2) (-4) (#) BARmEE
L:d—IR7Y2—Jb B:IF7YUHD AHH BE
. it 3 | FIRER 1:25.7 4-3 39.3| 743 | 6 504 | PTRIEF (£3)
12011 |F-FLT1—> 0 @ oy | =2
Z:707x BF—HLFv—L = RE
TN B4 | BRI 1:26.2 12-12 | 38.4| 68.8 | 16 | 412 |BEEE (F#)
EHH ®@I1320/F+v 2NN 55.0 3) (1) | EEEE
L:Z27)—re—A— B:vLTITUT v WweE S K
= .55 > 4 | HLEd 1:26.5 14-15 | 38.4| 66.1 | 15 | 454 |7#EIREB (X&)
14|59 | 7T v—/ - ¢56.0 (1 3/4) (+6) | Bo2ER=
R:FA—TZANA BRIy FHRE®S
~o e AN KEFRIR : - SREE (EH)
15 6|0y SR—IIA > o4 P 1.(247).2 4-5 40.7]63.9 | 2 (5_226) ﬂ?::?:-t
LHIRTATIR BiASIR FO—L HET7—L
C . 4 5 | FR— 1:27.6 2-2 41.4| 61.9 | 13 | 474 |HEEE (i)
160 7| ®2XXHTL—> [B] 454.0 21/2) L
RRXHTIZY IR BTUAT—RZA TRE 45
@ 71 L
) 48.9-37.1
NA>ZA4 L | 12.4-10.8-11.1-11.8-12.1-12.3-12.7
® I —F—@EBIERL
1T=7r=
20—7—
Gol=5r= (x5,7)13(1,6)-14,15,8(10,12)3(11,16) (2,9) 4
43—+ — (x5,7)(1,13)6,14,15,8(3,10,12)-(2,11,16) (4,9)
[ N3
H OB 15 870M 714K 13-15 10,400 e E 7-8 2,470 3EH’ | 10-13-15 117,540H
BB 15 290 10-15 1,140H B = 13-15 49,110M 3EE | 15-13-10 666,700/
13 1,940 10-13 9,180 B H 15-13 80,810/
10 300F9

ABICOVWTRDTEEERROODE. TR LIV,




